
www.napoleongrills.comN415-0397 OCT 23.17

Notice to Installer: Leave these instructions with the grill owner for future reference. 

PRO285 STAND

NE PAS JETER
DO NOT DISCARD

Note à l’installateur : Laissez ces instructions au propriétaire du gril pour consultation ultérieure. 

Wolf Steel Ltd.
214 Bayview Drive,

Barrie, Ontario, CANADA L4N 4Y8
grills@napoleonproducts.com



2  

www.napoleongrills.com N415-0397 OCT 23.17

28" 71cm

20 3/4" 53cm

PRO285-STAND

ALL DIMENSIONS ARE APPROXIMATE/
TOUS LES DIMENSIONS SONT APPROXIMATIONS

30 1/4" 77cm

Dimensions

1/2” (13mm) 

TOOLS REQUIRED FOR ASSEMBLY (tools not included)
OUTILS REQUIS POUR L’ASSEMBLAGE (outils non inclus)

3/8” (10mm) 



 3

www.napoleongrills.comN415-0397 OCT 23.17

1

2



4  

www.napoleongrills.com N415-0397 OCT 23.17

N075-00971

2

x2

1
2



 5

www.napoleongrills.comN415-0397 OCT 23.17



6  

www.napoleongrills.com N415-0397 OCT 23.17

N570-0086 (#14 x 1/2”)

N570-0017 (1/4”-20 x 1/2”)
3/8” (10mm) 

x2

x2



 7

www.napoleongrills.comN415-0397 OCT 23.17

N570-0108 (M8 x 35mm)

 N735-0019 (8mm)

 Z450-0015 (8M)

1/2” (13mm) 

x4

x4

x4

N570-0017 (1/4”-20 x 1/2”)

x2



8  

www.napoleongrills.com N415-0397 OCT 23.17

N570-0017 (1/4”-20 x 1/2”)

x2



 9

www.napoleongrills.comN415-0397 OCT 23.17

1

1/2” (13mm) 

2

3

1/2” (13mm) 

N450-0035 (M8)

x2

N450-0043 (8mm)

x2

N570-0108 (M8 x 35mm)

 Z450-0015 (8M)

x1

x1



10  

www.napoleongrills.com N415-0397 OCT 23.17



 11

www.napoleongrills.comN415-0397 OCT 23.17

1

2 x4

4

3

5



12  

www.napoleongrills.com N415-0397 OCT 23.17

KEEP YOUR RECEIPT AS PROOF OF PURCHASE TO VALIDATE YOUR WARRANTY.

Ordering Replacement Parts
Warranty Information

MODEL:

DATE OF PURCHASE:

SERIAL NUMBER:

(Record information here for easy reference)
Before contacting the Customer Solutions Department, check the Napoleon Grills Website for more extensive 
cleaning, maintenance, troubleshooting and parts replacement instructions at www.napoleongrills.com.  
Contact the factory directly for replacement parts and warranty claims.  Our Customer Solutions Department 
is available between 9 AM and 5 PM (Eastern Standard Time) at 1-866-820-8686  or by e-mail at 
grills@napoleonproducts.com. To process a claim, we must be provided with the following information:

1. Model and serial number of the unit.

2. Part number and description.

3. A concise description of the problem (‘broken’ is not sufficient).

4. Proof of purchase (photocopy of the invoice).

In some cases the Customer Solutions Representative could request to have the parts returned to the factory 
for inspection before providing replacement parts. These parts must be shipped prepaid to the attention of the 
Customer Solutions Department with the following information enclosed:

1. Model and serial number of the unit.

2. A concise description of the problem (‘broken’ is not sufficient).

3. Proof of purchase (photocopy of the invoice).

4. Return Authorization Number - provided by the Customer Solutions Representative.

Before contacting Customer Solutions Representative, please note that the following items are not covered by 
the warranty:

• Costs for transportation, brokerage or export duties.

• Labour costs for removal and reinstallation.

• Costs for service calls to diagnose problems.

• Discoloration of stainless steel parts.

• Part failure due to lack of cleaning and maintenance, or use of improper cleaners (oven cleaner
or other harsh chemicals).



 13

www.napoleongrills.comN415-0397 OCT 23.17

GARDEZ VOTRE REÇU COMME PREUVE D’ACHAT POUR VALIDER VOTRE

Commande De Pièces De Rechange
Information Sur La Garantie

MODÈLE:

DATE D’ACHAT:

NUMÉRO DE SÉRIE:

(Inscrivez l’information ici pour y avoir accès facilement.)
Avant de contacter le département du service aux consommateurs, consultez le site Web de Napoleon 
Grills pour obtenir plus d’instructions sur le nettoyage, l’entretien, le dépannage et le remplacement 
des pièces à www.napoleongrills.com. Contactez le fabricant directement pour obtenir des pièces 
de rechange et faire des réclamations au titre de la garantie. Le département du service aux 
consommateurs est à votre disposition entre 9 h et 17 h (heure normale de l’Est) au 1-866-820-8686 ou 
e-mail grills@napoleonproducts.com. Pour qu’une réclamation soit traitée, l’information suivante est 
nécessaire :

 1. Modèle et numéro de série de l’appareil.

 2. Numéro de la pièce et description.

 3. Description concise du problème (« brisé » n’est pas suffisant).

 4. Preuve d’achat (copie de la facture).

Dans certains cas, le département du service aux consommateurs peut demander de retourner la pièce 
pour des fins d’inspection avant de fournir une pièce de rechange. Les pièces doivent être expédiées 
port payé à l’attention du département du service aux consommateurs avec l’information suivante :

 1. Modèle et numéro de série de l’appareil.

 2. Description concise du problème (« brisé » n’est pas suffisant).

 3. Preuve d’achat (copie de la facture).

 4. Numéro d’autorisation de retour - fourni par le représentant du département du service aux  
  consommateurs.

Avant de contacter le service aux consommateurs, veuillez prendre note que les items suivants ne sont 
pas couverts par la garantie :

• coûts de transport, de courtage et frais d’exportation;

• coûts de main-d’oeuvre pour l’enlèvement et l’installation de la pièce;

• coûts des appels de service pour diagnostiquer le problème;

• décoloration des pièces en acier inoxydable;

• bris des pièces causé par un manque d’entretien et de nettoyage, ou par l’utilisation de 
nettoyants inappropriés (nettoyant à fourneau ou autres produits chimiques agressifs).



14  

www.napoleongrills.com N415-0397 OCT 23.17

Item Part # Description
1 N570-0108 M8 x 35mm screw / vis M8 x 35mm x
2 N735-0007 1/4"  washer / rondelle 1/4" x
3 N450-0025 1/4-20 nut /  écrou 1/4-20 x
4 N720-0077-SS1SG leg  / patte x
5 N450-0035 acorn nut M8 / écrou borgne M8 x
6 N590-0245-BK1SG wire shelf / tablette grillagée x
7 N075-0097 foot / pied x
8 N570-0086 #14 x 1/2" screw / vis #14 x 1/2" x 
9 N710-0092-SS1SG condiment tray / condiment plateau x
10 Z450-0015 M8 nut / écrou  M8 x
11 N160-0032-BK1SG tank retaining clip / support du bonbonne x
12 N080-0347-BK1SG tank bracket / support réservoir x
13 Z745-0001 wheel / roue x
14 N570-0017 1/4-20 x 1/2" screw  / vis 1/4-20 x 1/2" x
15 N340-0007 door hook / crochet de porte x
16 N450-0043 axle cap / essieu x
17 N475-0352-BK1SG panel / panneau x
18 N590-0244-SER side shelf / tablette latérale x
19 N570-0110 shoulder screw / vis épaule x
20 N390-0006 latch / loquet x
21 N590-0243 shelf stand / tablette x
22 N735-0019 8mm washer / rondelle 8mm x

PARTS LIST / LISTE DES PIÈCES



 15

www.napoleongrills.comN415-0397 OCT 23.17

22

4

10

1

9

4

1

3

2

20

19

12

10

8

13

16

14

14

17

18

15

5

5

7

6

16

11

1

7

21

PARTS DIAGRAM / DIAGRAMME DE PIÈCES



Napoleon products are protected 
by one or more U.S. and Canadian 
and/or foreign patents or patents 
pending.
Les produits de Napoléon sont 
protégés par notre brevet 
d’invention dans les pays États 
Units, Canada et international. 


